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(1) ©1) (1) s e e d g Co by Ay kcus JLitepat (1
(a+b)(c+d)=alc+d)+b(c+d) (a — b)? = a*? — 2ab + b? k x (a—Db)
(a+b)(c+d)=ac+ad+ bc+db =kxa—kxb

(61,5) (©1,5) (11,5) ol Lo daung it (2
C =(11x+5)(8+ 3x) B =7xx(—6—3x) A =5xx (7 +9x)
C=11xx8+11xx3x+5%x8+5x3x B =7xX(—6)—7x X 3x A=5xX7+45x X9
C = 88x + 33x% + 40 + 15x B = —42x — 21x? A = 35x + 45x?
C =33x%+103x + 40

@L5) 1)  rglledes (3
E=0Ux+5Cx+1D)+Bx+1D)x+3)=Cx+1)[(4x+5)+ (x + 3)] D = 7xyt + 5xy
E=0CBx+1)@4x+5+x+3)=Bx+1)(5x+8) D = xy(7t+5)
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R+ S =55°+95° = 150° # 90° ‘Lol P+ S =20°+ 70° = 90° Lal
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